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Comparando, temos que p =—4. Gabarito A.
02. Gabarito C.
E =(999)° +5-(999)* +10-(999)3 +10-(999)? +5-(999) + 1
=1-(999)° -1° +5.(999)* - 11 +10-(999)° - 12 +10-(999)? -1° + 5-(999)-1* +1.(999)° . 1°
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03. Gabarito E.
E=153%-4.153%.3+6.153% .32 - 4.153.3% + 3*
~1.153% .(-3)° +4.153% .(-3)' + 61532 . (-3)” + 4.153".(-3)° +1.153° . (-3)*
= (4J1534 (-3)° + [4]1533 (-3)'+ (4J1532 (-3)%+ [4]1531 (-3)% + (4J153° (-3)"*
0 1 2 3 4
= (153 +(-3))*
=150*

= (15-10)*
=15%.10%

04. Note que
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x* +4x%y +6x7y? +4xy® +y* =16

4 4 4 4 4
(0]x4-y°+(1jx3-y1+[2Jx2-y2+(3jx1'y3+[4Jx°-y4:16

(x+ y)4 =16

X+y=2

Logo, X+Yy==316 = X+Yy=12. Como x e y sdo nimeros positivos, entdo X+ Yy =2. Do sistema { 1
X—y=

3
segue que X = E Gabarito E.

05. Gabarito D.
E=103*-4.103%.3+6-103%.32 -4.103-3% + 3%

=1.103%(-3)° +4.103% -(-3)" +6-1032 -(-3) +4-108" -(-3)* +1.103° . (-3)
Y PN,
= (103 +(-3))*

=100*

ot

-108
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